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MA4-218P

General Insiructions

Time allowed — 1 hour

Calculators may not be used

Carefully read fhe instructions at the beginning of each section
Write your name at the top of each page

Attempt all questions in spaces provided in the examination paper
Show ail your working

You will need a pen, pencil, eraser and ruler
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Teacher: ..
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1-8 3 2 2 1 8
9 14 il 5
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11 11 4 15
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Section I - Multiple Choice

8 marks

Attempt Questions 1 - 8

Circle the correct response
Write your name at the top of each page.

1 On this spinner, what is the probabiiity of spinning blue?
1
A —
@
]
B 2
® 3
1
C -
© 5
m 1
1 A particular set of traffic lights shows red for 30 seconds, amber for 2 seconds and

green for 2 minutes. The chance of getiing a green light at this pariicular set of
waffic lights is:

A
®
©
>

unlikely
even
likely

cortain

3 A standard 6-sided dis is rolled. What is the probability of rolling at least 57

1
A -
M
2
B =
B c
4
C —
© -
5
D b
D} :
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4 Which of the following statements is nof true?
(A)  —3<5
B -3>-5
(Cy  =5<«3
Dy -5>-3

Name: e e

8 The rectangle PQRS is rotated 90° clockwise about the origin to ereate P'O'R'S.

5 Mary has 70 in her bank account. After she withdraws $50 and then deposits $100,

how much will Mary have in her bank acceunt?

A)
B)
©)
o)

—£80
$20

$120
$220

6 Simplily 3a —4b + 204108,

@
®)
(©)
™)

ab
5qa—14b
S5a+6b

5¢% + 657

7 The steps to simplify 5x 4@ to 202 are:

s5xda = 5x{4xa)= (5x4)xa=20a

Which of the following laws was used?

M)
(B)
Q)
D)

Algebraic law
Associative law
Commutative law

Distributive law

P

T

Which of the diagrams below shows the correct position of F'Q'R'S"?

(A)

¥
‘14

ER

(

<

3 =2

P

g

¢
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Section 11

58 marls
Atterapt Questions 9-12

Write your answers in the spaces provided in the examination paper.
Write your name at the top of each page.

Marks
Question 9 (15 marks)
(a)  Rewrite the following numbers in ascending order. 1
10, 0, -1, 4, -3
b @ Complete the numberline below, 1

(i) Place a dot (») on the numberline at -2 and a cross (%) on the numberline i
at 4,
(iify ~ What is the difference between 4 and 27 1
(¢)  State whether the following statements ere true or false.
)] 10 -3 =-3+10 1
(ii) P=6 1
Question 9 continues on the next page
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Marks
Question 9 {continued)
{d)  The calculation on the right shows 2l % 1
that 14 x 21 =294, _i4
84
210
294
Show how 14 x 21 conld be caleulated using a different method.
()  Evaluate each of the following, showing clear working where necessary.
)] -5x7 1
(i) —-10 -3 1
(H) -4+12<+2
(iv) 5 —{10 - 30) 2
1-5
v 2
o i-35
End of Question 9
Year 7 Semester 1 Examinafion, 2015 page 7

Mathematics



Marks
Question 10 (14 marks)

{a)  The 52 cards in a standard deck of playing cards are shown below, divided evenly into
4 suits: heats, diamends, clubs, spades.

] v LYy ‘vv;’.v w”\rv évv
Ha;&?;:" .\ . aa}.\a
__v; A LA Ay Ah*‘nn'nw
i T 1 4] 'oe ﬂ+ I -f‘t
Diamonds: | ¢ + ¥ i, ¢ 4,0 14 e
tedh ¢ q e i wle efietullite

i ’-!- PPN | PR I (PR P T
Glubs: = * ¥ ¥ |lewijerlive
(black) §. w g % g e oy e wl [0y [0
T [ i s (e 48 210 4| [ a0
Spades; 4 i LN %v:lf;v-
(blagk) MEREIEE IR LA LAk

The cards are shuffled and one is taken out at random,

(i) What is the probability of choosing

(A)  the ace of hearts? 1
(B)  aspade? 1
()  apicture card? 1
(i)  What is the complementary event to choosing a red card? 1

Question 10 continues on the next page
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Name: ..o i
Marks
Question 10 (continued) .
{b) 74
54
4
34
PN
1 ed
-ttt 1
5 4 -3 -2 -t o 1 2 3 & § ¥
-1
2
=3+
49 B
B
¥
@ Write down the coordinates of the points 4 and B plotted on the mumber 2
plane above,
(it  Plot the point C (— 2, 1) on the number plane above, 1
(©) Given x =32, y=10 and z= -3 evaluate
) 1
 Z 1
iy 3z 1
Question 1{¢ continues on the next page
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Name: ..o,
' ) Marks Marks
Question 10 (coniinued) Qmnestion 11 (15 marks)

{dy  Simplify the following algebraic expressions. (a) Y4

54
(i) Ix + 6x i

5

4l

3+

.

@ 3x - 6x 1 3

-ttt t>x
% -5 4 -3 -2 = 12 3 4 5 s

X A

2

(iii) 3x x 6x 1 ¥ 3

_at

z S

5

. 6x v
(ivy — 1

3x -

The transformation of tiangle X¥Z to X'Y'Z'is described as follows:

X(-4,-1)— x7{8,-1)
¥(-3,-3)—1(3,-3)
Z(-4,-5)——2'(4,-5)

(1) Draw and label X'¥'Z' on the number plane abeve. i
(i)  Tn which quadrant does X'¥'Z' lie? 1
(i)  Write a sentence to accurately describe the transformation, 2
End of Question 10

Question 11 continues on the next page
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Name: ...
Marks
Question 11 (continued)
() Solve the following equations for x.
i) x+5=20 1
e X
i —=12 1
W 3
(iif) 2x-5=13 2
N x41
v — =-5 2
(i) n
Question 11 continues an the next page
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Question 11 (continued)

{¢)  Amna’s teacher has given her the following challenging equation to solve:
Jw-10=2 45,
2

Anna thinks the solution is x = 6.

Show that she is correct by substituting x = 6 into both sides of the equation.

Show your working clearly in the space below,

(dy  Write an algebraic expression for each of the following

(i) 5 mere than ».

(i)  The sum of m and ».

(iii)  The number of players in a netball competition if there are # teams
with 7 players on each team.

End of Question 11

Marks
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Name:........coociinin e,

Marks
Quiestion 12 (14 marks)

{a)  Anocnline shop selis candles for $2 each plus shipping, which is a fixed cost of §10.

(i) How much does it cost o buy 8 candles (ineluding shipping)? 1
(if)  Write an expression for the cost of # candles (including shipping). 1
(lify  Tow many candles can be bought for $70 (ineluding shipping)? 1

(b)  Ithink of & number, increase it by 2, multiply this by 5 and then divide by
4 10 get a result of 15.

@) Write the statement ebove as an equation whete » is the number, 1

(i)  Find the number ». 1

Question 12 continues on the next page
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Marks
Question 12 (continuecd)
()  Atriangle UVW is translated to L'V'W". 2
Fill in the missing coordinates below to fully describe the translation,
U{3,-2) — U'(-2,0)
v{s0) — P( )
w( ., )— w{-25)
(You may vse the blank number plane below io help solve the problem).
y -~
5
54
4
34
2l
-+
1 -t -
- =% -4 -3 -2 -1 (0 1 2 3 + 5 x
_1d-
2L
g
-t
=4
-5
¥
Question 12 continues on the nexi page
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Marks Marks
Question 12 (continned) Question 12 (continued)
(dy A pair of dice was rolled 50 times. The sum of the numbers showing on the faces (D A sorting program does not understand about numbers, It ireats all digits
was calculated each time. The results are shown in the table below. {0, 1,2, ..., 9) as though they are letters in an alphabet and sorts lists of
numbers “alphabetically” rather than “numerically”. For example the program
Sum 23|45 6 | 7819101112 soris the list of numbers 0, 1, 2, 10, 12,21, 101, 111, 200 in this order:
Ifumh?r of ol2]alelsiglolsls!|2]an 0,1,10,101, 111, 12, 2,200, 21
times rolled
. , . )] If the numbers 1, 2, ... , 99 are sorted, what is the 457 number? 1
M Wirite down the sample space of this probability experiment. ’ 1
(i)  Which sum appears to be most likely? 1
(iii) A sum of 2 appears to be less likely than a sum of 12, For a standard 1
pair of dice, why should this theoretically not be the case?
(iiy  If the numbers 1,2, ..., 200 are sorted, what is the 195" number? 1
(e) Mary invents a new mathematical operation ©:
a@ b= 2a-b+1
{  Find3© 5. 1
iy  Give a clear example to show that © is not commutative, 1
End of paper
Question 12 comtinucs on the next page
Year 7 Semester 1 Exarination, 2015 page 16 Year 7 Semaster 1 Examinatlon, 2015 page 17

Mathematics Mathematics



Q)

L
(D)= 994 %5 -
a4+ v ~vS
L7~ 79) + YT+ G s«m 9
H - ary — @l
ow| =
- 17437 4 12401 o0
7~ Jm\mi ﬁ T 17 4 Q - @m(ow >
wml: ) Sz -) = M Q\Q\}_\% ey §4 g
451y
- M S ~
llt 9 7 M \ . A Q \%
25 (4 ’ - \l
SS9 = Eltrs
dﬁ.\mqlw I(m €135 = $- a] ? m\d wk %\Nﬂ@a@\ NQLN %w%&&
(as-er) - (ne DARGE R LAV
e 7 H- K TR T g ¢
Qs@am_ﬂf_fj wxwm ?.,sm %o\qz we..sN ﬂ
e g (¥
SPEY O (e g - ha v ) @W S AUNFVIoYs Fas)
S8~ = @ = ﬁADqE\DJaM\ m\wuﬂ\@eomw e&x\‘d&sx\%
05+ 2 )
_ A4 vt Y

e IR ) NP $99 IS



WY ey W 9K

3. g
- Satyy
STl S sann )
) o g vl
j; - ——" = - Fem W g
] S (“&+’>(> ’ )E . K
Z | T oy (0
N )%'*;TO}M&E I g |
'3’(}, JE?««M{ ?# ‘P@’! . 7 - =X \\\I L=
Oii* Yoz <2 g as L.? . o1~ = 1¥X '§ /I"L v ('5"‘0 ] -9
OE:U _ = _E,__ N
Lz =09 = 1% (/\r_ 'd_i?— ; ; (1"4)= ¥
OHVE = 0f (.’\lf b= e 93§ (5 9
o(-hrz - }5}’1 x )
- P W - . 10 )
$3pva) &a 57 (f! X1= 543 27 s H ’ ~tS°E:’O - M
?($ - OH"H = 04 (g}z $1z & X7 (”! Z = X? ( al rNb "(OMO ‘f"ﬂf (‘:,‘
2L < g ¥ -1y
PP u o $ 7 ek vy Loy 9 = S X o %0
AL - TG g (e 4
VXL (o e | AL
' S 6= Ii(f(i’ S
VW ("') 0z - 2/1 (V ({
A 07 =X =t 2(57)5%=
SAU (s (p 0T 2 54X (4 0

g9 M



TARNL ke

¢ 'Y €. agdh> 2o hy)
(v+e) 5= 6o
(A1) = 12 ()35 - 2(3)~S’J(|
N> 12-2=10 = L-S i
12.C) udobon 5 D aPb E bga
U Aws -5 &}1@10 2 2o b4
s 4 b®a:9) g4
U 0320 = U2 f they ot Gomnddne
V{Scv)>y' (v, 2) Do bt 2 Dhan]
2,3 Sel( ) e Rae g

—H"’& Za"‘" 75 u/\_z
6{) g;i‘legk—,)’,(,?-,Q(_o,‘,b'”’ v et rF &lbj

' S e Ofeebon
tf') ¥ Gfﬂﬂg@- f‘L{,%-JyL /,L% /»‘cc«.ue_ ' s fﬂfﬂMV&,

;’(/‘ poresials & Mo wst nqg b
of fracs plled.

/ Jrf*) “a Jum ﬂrp 2 = /b//’/y QK' /3
0/“’“‘(- = /{‘/A/i/ :&
4 ;w!""!o% )l - ,,)/'/l,-7 Z¢ &Y
vl
Phosstel ¢
: sdd 4
@"“J? & Z&Z{;{j ‘

2. a ondel
Polo, o2, 03, 16 y5, 060N
oo TN e
2000 | “ 2,,
AL L 3;
4‘7.. 4y

§
[1‘\"1"4 m«))u 5 /&")
i7) l”‘)f‘k""j Lﬁufﬂ vord 3

ﬂo) ] qg, Dﬂ/%, %‘/174
m{— 5515 th suaben



